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[1] ROMIZE R 7 &,

(1) kOFHEE Lz S,

@ 3a2b® x 5a%b* @ 22y23(x — 3y + 22)
(2) ROXZ R L& S\,
@® (2a+b—c)? @ (3z—2)3
@ (z—1)2%2?+z+1)2 @ (x+1)(x—1)(z+2)(z—2)

® (z+1)(x—1)(2®+1)(a* +1)
(3) WOR % REITE L 7 S\,
@® 622+ -2 @ (22 —22)% —2(2% — 22) — 3
® 8a® + 64 @ a* —5a% — 36
® 322 +5zy — 2y% —x + 5y — 2

[2] ko 2B OWT, THREOEE, #MoAERXERD, 77 72hE RS
(1) y=—-222+3zx+1

(2) y:%x2+2x+3

(3] ko&trziilzd &) %, 2RMBOHTERX RO LS. B3y =az? + bz + c DR TERI LS\,

(1) 79 7OTEmA M (1, —=2) TH Y, 5 (=1, 10) =85,
(2) 7T 7h il (=3, 0) THL, M (=1, —4) %5,
(3) 77 7H3 (0, 5), (1, 3), (3, 11) %3 5.

(4) 7770 (4, —1) 2#), 2=20L ZHFANETZ L 5.

[4] a0, LT, D200 2KBEBIZONWTEZ 5.
y:a:z2+2a:z+a+6 (@, y:x2+bx+2b—6 e ®
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(2) ® DT 7% AN y AN p ATRBEL2E2H @D T T TIZER-7:. ZOEE, a b, pDEE
KD,

(5] 2By =222 D7 T 7% FATREIL 720 DT, H(1, 3) %), THEAEM v =22 — 3 LI2H 2o iR
rROB IV, 7272, THEO yEIEIATHLEL, y=ax? +br+cDETEZRI W,

[6] 2kBE% y = —22 + 22 + 112DV T, ROXMIZBIT SiAM, fMEZRD % S\,

1) ~1<a <2
2) 2<2<3



